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The endocrine glands are potent factors affecting the growth
and development of an individual. These are

1. Biological factors

2. Environmental factors
3. Social factors

4. Emotional factors
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This principle of development is applicable if the baby creeps
first, crawls second and walks next

1. Uniform, accurate developmental pattern

2. Continuity

3. Interaction between heredity and environment
4. Development can be predicted

I Ugel IR Bl S A BB W1 3, W gl A
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The correct statement with regard to growth and development

1. Growth refers to physical change, development to
mental change only

2. The changes of growth and development are totally
observable and measurable

3. Growth refers to physical change, development to
overall changes

4. Growth and development are external processes

gfeg 31k faera & Fdy A TE Bea @1 ugaife|
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4.  dfg 3 Rem ag wfafeae 3

The infancy is the stage of
1. Slow development
2. Rapid development

3. Slow and uniform development
4. Slow and varied development
AT TH UPIR Bl AT 8
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As per the Maslow’s hierarchy of needs, the basic needs are
1. Love and belonging

2. Safety

3. Physiological

4. Self-actualization

mamﬂaamsﬁasqaaamass@an ‘gferandy’
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2. JgRat
3. AMRIRP
4 3MTcA-TT e hpIoT

One of the following does not imply with the characteristics of
social development

1. The child learns to interact with others

2. The child enters into conflict with peers

3. The child perceives his own individuality with in his
community

4. The child is being able to resist peer pressure
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One of the following is not true with respect to ‘Super ego’

1. Perfection rather than pleasure is its goal
2. It 1s idealistic
3. It does not care realities

4. It follows the principle of reality

e & A ' g 2N (Super ego) & T A A g1
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One of the following is an image format
1. Bit Map File
2. Word document

3. Extensible Music Format

4. Google drive document
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10.

This one is higher order thinking among the following
l. logical thinking

2. Imaginative thinking

3. Abstract thinking

4. Concrete thinking

forear A A Igad [ida ugid &1 I999 &2 ..

1.  dibe A

2.  HoudnRid A
3. 31d A

4. Fd A

One of the following is not the characteristic feature of
‘Sanguine’ personality type

1. Possessing Excess blood

2. Being irritable nature

3. Being emotionally strong

4. Being friendly

oo & A v ‘3mmaE’ afdaa ueR ot f[aitrs fadar
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12.

As per NEP — 2020, the Education levels are
TA.3.U1 - 2020 & AR, e &1 TR A TBR 3.....

1 10+2+3

2 5 +3+3+4
3. 5+3+4+3
4 5+4+4+3

One of the following is not true with regard to the ‘level of
aspiration’

1. It is a factor of individual differences
2. It increases if you face failure at work
3. It increases if the work is successful

4 It is an emotional desire to win
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If a choice between two unattractive goals is inevitable, the
conflict type is

1. Avoidance — Avoidance conflict

2. Approach — Approach conflict

3. Approach — Avoidance conflict

4. Double approach — Avoidance conflict

&l 31Ty el & o T bl ruRgrRf § af Icue
e

1 URge - uRge Jud
2. 3URH - 3URTH Jgy
3. 3UPH - uR¥grR dJud
4 fg 3uPE - uRgr Jud

One of the following is not true with respect to the
disadvantages of introspection

1. Introspecting person may have partiality

2. Abnormal people cannot introspect

3. Results can’t be re-examined

4. The information is not first hand and not reliable
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16.

Trait theorist among following is

l. Allport

2. Rogers

3. Sheldon

4. Carl Jung

A U1 Ragiaardt sl 3?
1.  3ifaure

2. oA

3.  Qesd

4. It ST

The learning at work place comes under this category

1.
2.
3.
4.

Informal learning
Formal learning
Non formal learning

Natural learning

PRI A 3RREA| 37 Aoit & 3idela 3mar 3.
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We can say that the children enter Piaget’s stage of
cognitive development at early childhood stage.

1. Sensory Motor

2. Pre - Operational

3. Concrete Operational
4. Formal Operational

= URTHG ITcaRT & RIS & Asiercdsd kb &
A TRUT A AT PBd 3l

1. SEied - ameTd gl
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4 U FfsareAs sazen

One of the following is not the acquired individual difference

1. Educational
2. Cultural
3. Social
4. Emotional
foreat A A v 3ifofa Jaferaes 3iaw =18t 31
1. s
ARB D

2.
3. ATHSTR
4 HAIMHB
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20.

21.

‘Unifactor’ theory of intelligence was developed by
1 Binet

2. Thurstone

3. Piaget

4. Golman

1. =

2. aREa
3. Ut
4.  ONcHA

The stages of creativity process identified by Wallace.

AT & gRT UgdT 9T FoTellcHD HhaT & a0l
1.1

2. 2
3. 3
4, 4

TAT (Thematic Apperception Test) is a test to assess

1. Conscious behaviour

2. Unconscious behaviour

3. Intelligence

4. Aptitude

Tao=eTa aier oRien (TAT) BT 38T FHABI 3TTdBeTd Bell
3l
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2.  3/dd AR

3. gl

4.  peredar
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23.

“Attention distribution” is

1. Personal ability to focus attention on several variegated
objects simultaneously.

How long a person can stay focused on the object

3. Attention’s speed of transition from one object to
another

4. A number of objects a person can clearly perceive at a
time

1. U AR B3 3McIol-37ci0] Hloll U &ATel bigd el
BT JATFaD AT

2. Afh fehaelt &R ad 6 a¥g UR e diga
P2 AhdT gl

3. TP RG A QAR g W e RATATARA PHel b
oifa

4. TSP § AAT A B3 Rg3il B T ST A TAA
HAhdT 3

Pick the correct one from the following

1. Perception = Sensation + Vision

2. Concept = Abstraction + Analyzing
3. Perception = Sensation + Meaning
4. Concept = Sensation + Attention

A A FG! [aweu gl

1.  grRun = ggTee + gite

2.  HAdbcdenm = 3der + faediwon
3. orum = gfguse + 3ref

4.  TAhcuell = g +e=mel



The type of concept formation through pictures, photos and
reading descriptions comes under this type of experience

1. Direct experience

2. Indirect experience

3. Abstract experience

4. Natural experience

i, BIcmKl 31k aufal B Uod U= Icue 3Qenol
A UBR & 37HT b 3idofa 3T Bl

1 T8l 3igHa

2. 3T 3iHd

3.  319d 3rgera

4.  HTBidad 3Med

‘Theory of identical elements’ regarding transfer of learning
was proposed by

1. Thorndike

2. Charles Judd
3. Koffka

4. Bagley

geglal 3T TRITATaROT &1 “THTS dcl &1 Rigia’ &t
TRaltad e

1.  eistsse

2. arcH s
3.  ®IBHI
4 T
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If punishment or reward makes a student learn, comes under
this kind of motivation

1. Intrinsic

2. Extrinsic
3. Abstract

4. Social

qus a1 QIR el H Aee dfete 9Rd Fwar 3 at
g A YUPR P! U0 3.

1 Mgty 9=om
2. dTgl 9Run

3. 3d 9vom

4 ATATSIG SO

Choose the one which is not correct with regard to learning
according to E.L. Thorndike.

1. Leaning is Establishment of connection between
Stimulus and Response

2. Learning is incremental not insightful
3. Learning is mediated by ideas

4. Learning strengthened through practice

E.L. &TefeTsd & 3ERAR AR & Ade A Pl AT B
g = B

1 3TRPTHA IS TR lafhaIa & o Ade el
2. it ghgefa 3, siadiegof =i

3. 3 fary & AteId A giar 8l

4. 3P & BRI AW FAeigqd Jerdr gl
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29.

One of the following is not true with regard to the classroom
situation where the teacher is with permissive leadership
nature

1 The leader gives advice only on request
2 Members have complete freedom

3. The leader is like a spectator

4 Students develop interest for studies

31gHAIGH Aqged drel 2121 & P2l g & Ade H UH e

1.  odl ad 3R W g AAE <l gl
2. TGN Pl gul TSI 3
3. a1 us 2ofe & g B
4.  Taenedf uerd & ufa sk Reehia B30

Pick the one from the following to support the idea “teaching
is an art”

1. If incorporates systematic approach

2 Teaching methods are used as per the plan adopted
3. It is a goal directed activity
4

Selected teaching strategies do not work as same for all
teachers.

‘Rraror e et 3’1 FAFAE aww ghw

1. g HHATGIA GREHIVT IJIAT 3
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4.  Tafera Rreror SfeRn A3l Rigrw! Bfoe ve FA =
PIH I8 Bl 3l



In view of strategies for positive learning Environment, if the
students agree that, “It is very necessary to treat others the way
we want to be”. It

1. Makes learning relevant

2 Develops intrinsic motivation

3. Develops a code of conduct

4. Develops emotional intelligence

ABRIHD [A2T0T ATATARYT & SgI B gie A BB DI

A TG A AGHAA Giell ANGC 16 gIRI & AT AT Gt
AGR BT A g SIAT H T b AR I18d 8

1. 31fePre &1 3R getrar 3
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4.  AATHSD glg P [aHRA giaT



31.

32.

33.
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4. Fool
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IR RA A AT gl Tg T FA dAGT A Bl Frad
Pl 2l

1. foeears g
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1
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3. #ig
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62.
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Einstein had correctly calculated in advance the extent to
which the light from fixed stars would be deflected through
the sun’s gravitational field.

To deflect 1s to:

1.

2
3.
4

absorb
reflect
redirect
hold

She is a shining inspiration for deaf children.

Identify the antonym of ‘inspiration’ in the context of the

sentence:

1. modern

2. despair

3. insert

4 reward

The letter by the secretary before the meeting.
Identify the best option that fits the blank.
1. sends

2. 1s sending

3. will send

4 was sent
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65.

66.

67.

Choose the prefix that means ‘again’ or ‘back’.

1.

2
3.
4

pre-
re-
sub-

over-

I was so excited about the job offer, but now I’'m getting cold
feet about moving to a new city. In the above sentence, the
meaning of ‘get cold feet’ is

1.

2.
3.
4

to become nervous or hesitant
to have a cold illness
to be prepared for something.

to feel excited:

The following is not a meaning of ‘go over’:

1.

2
3.
4

to review
to ignore
to examine

to explain

In an alphabetical order, the word ‘Knock’ can be placed:

l.

2.
3.
4

before knife
after knife
at the same position as ‘knife’

after knot
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69.

70.

71.

Identify the sentence that correctly uses comma after an
introductory phrase:

1.

2
3.
4

After the movie we went to, dinner
After, the movie we went, to dinner.
After the movie, we went to dinner.

After the movie we, went to dinner.

Having handed over the flowers to my mom, I hugged her.

Choose the correct transformation for the simple sentence to
the compound sentence.

l.

I hugged my mom, and I handed over the flowers to
her.

I handed over the flowers to my mom, so I hugged her.
I hugged over the flowers to my mom and handed her.

I handed over the flowers to my mom and hugged her.

Identify the grammatically correct sentence from the following

l.

2
3.
4

The police has arrested him
Where is the scissors?
My spectacles is lost

My trousers are not tight

Identify the sentence that expresses a feeling.

1.

2
3.
4

Please close the door.
She has a new car.

I am so happy today!

Where is the nearest cafe?
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73.

74.

75.

Identify the correct spelling of the word:

1.

2
3.
4

embarass
embarrass
embarras

embaras

She said, “I can finish the work.”

Choose the correct indirect speech:

1.

2
3.
4

She said that she cannot finish the work.
She said that she could finish the work.
She said that she finishes the work.

She said that she finished the work.

If she had not gone home, she would have been happier.

Choose the type of conditional sentence used.

1.

2
3.
4

Zero conditional
First conditional
Second conditional

Third conditional

One of the following is the term for a person who is very good
at a particular skill:

1.

2
3.
4

Adapt
Novice
Amateur

Consummate
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77.

78.

79.

When a subject begins with ‘this’ or ‘that’ the verb should be
conjugated with reference to the

Choose the option that fits the blank.

1. verb

2 subject
3. object
4 adverb

One of the following is not a declarative sentence.
1. The cat is sleeping on the sofa.

2 She has two sisters.

3. Where are you going?

4 She enjoys reading books.

The weather was not ideal for a hike. they went
for a walk in the park instead.

Choose the linker that fits the blank.
1. Thus

2 Nevertheless
3. Because
4

For instance

Choose the example where the definite article is used before
common nouns followed by a proper noun.

1. The river Godavari is in spate.
2 The lion is ferocious.

3. The man is reading news.

4 Mary is in the stadium.
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81.

82.

83.

you please pass the book?

Choose the modal verb to express a polite request.

1.

2.
3.
4

Can
Could
Must
Might

Choose the correct sentence that uses a subordinating
conjunction.

1.

2
3.
4

She went to the store, so she did not buy anything.
I will call you when I arrive.
He likes coffee, but he likes tea.

We can go to the park, for pleasure.

Identify the sentence that correctly uses an indefinite pronoun.

1.

2
3.
4

Anybody are welcome to join us.
Nobody have seen my keys.
Somebody has left their phone on the table.

Everyone need to bring hers ID.

The section of notice where you provide the necessary details
and specific instructions is called

Choose the correct option.

1.

2
3.
4

the heading
the title
the body

the closing



The first step in preparing a script for speech is to
Choose the best option.

1. draft the script in full.

2 practice delivery

3. revise and finalize the script

4

understanding your audience.

Identify the sentence that is NOT a past tense:
1. She played the Piano

2 They had finished their dinner.

3. He is writing an essay
4

I was walking to the park.

They will have finished the project by next week. Select the
tense of the sentence.

1. Simple future tense

2 Future continuous tense

3. Future perfect continuous tense
4 Future perfect tense

He enjoys outdoor activities hiking and cycling.
Choose the option that fits the blank.

1. such as

2 in view of

3. in exchange for
4

instead of



8.

89.

her help, we finished on time.
Choose the option that fits the blank.
1. In view of
2. Because off
3. Thanks to
4

In case of

Read the following passage.

Domestic violence is a serious issue in India, affecting many
women and children across different socio-economic
backgrounds. Despite legal frameworks aimed at protecting
victims, underreporting and societal stigma often hinder
justice and support. Advocacy groups and legal reforms work
to provide protection and assistance, but cultural and systemic
barriers remain significant challenges.

Identify the main barrier to justice in cases of domestic
violence:

1. excessive legal protection

2 high reporting cases

3. societal stigma and underreporting.
4 overfunded support services.



90.

Read the following passage

Domestic violence is a serious issue in India, affecting many
women and children across different socio-economic
backgrounds. Despite legal frameworks aimed at protecting
victims, underreporting and societal stigma often hinder
justice and support. Advocacy groups and legal reforms work
to provide protection and assistance, but cultural and systemic
barriers remain significant challenges.

Legal frame works aim to provide to victims of
domestic violence.

Choose the option that fits the blank.

1. punishment

2 protection and assistance
3. compensation

4 publicity
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““@RIT 3e] T TG BB’ 3T AT ITcHBAT FeTebl
3

1. eRgem=Af

2 foreeh gk

3. gRdR™ a=e

4 st JAgTen

1 AR aAgIgR g

2. oS

3. U eex el

4 T JAgTen
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2. e UAE Uiey
3. ol yHe =i
4,
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Gl LG I

1.  HAgRd gt
2. siRre ol
3. ge AR
4.  OTad) QRUT IHT
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2
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1
2

3. SN
4
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2.
3.
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3. gsidl
4.
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2geR] faft A B & snfaRea ag smur off fersht st

Bl

1.  @oren

2. Yolrel

3. R

4,  pecls

&Y aufdATen & aoffepzor &1 JAE A B

2. <, BUSH, T, H@ed
4, TS, AT, @, G

Rieht amen &1 fawTA 33 31Uaier A g3 3

1. 9mFs

2. gaett

3. eilolt
4. SISTHTST

fopet AT 8151 A dicll STa arel! RATNRT HIST DI Bgd 5

1. TS HTHT
2. dleft

3. LTSTHTYT
4. IGATHT

IOTHTT TS 215N ATHIOT AT 31 T 5H Tied A dlelt
SiTelt 3l
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